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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cuiting or filling
two or more circles will result in zero mark in that question.
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A N2V 34 o J‘b’ it el buf&ZbZZCZd.:.e"b Il
; o ol y
Third Fourth d Inaproportiona:b:c:d,bandc
; . Extremes Means:
proportional | proportional ' are called :
S N Lty _:ﬂ;-(:‘; A collection g_t“Uwf pr bﬂ?lg | 2
Super set Sit Boswerged Subset of well-defined objects is called :
2 e 3
- (£1) (1) 14y | The cerS¥ax’ 16 =02l
solution set of equation 4x% 16 =0 is:
ngfﬁ,}éh’pugl&?’idf)l:’f 4
2l 2SN -2 bt The extent of variation between two
Median Quartiies Range Average extreme observations of a data set is
measured by :
tan 0 0 =1 1 cosec?® —cot? 0= — —— ! >
ijlségﬂc._;'s-w‘{l.{ugk:)du’lu»!)’:w.:..fl:ug 6
. The length of a chord Erean 0SS
75° 30° 45° 60° and the radial segment of a circle are
congruent, the central angle made by the
chord will be :
. o BEAT e g |
360° 270° 180° 90° R tt 0 i
A complete circle is divided into :
B Cow s SV et e/ e |8
Dinmisten R cant Chord Tangent A line intersecting a circle is called :
u v T 9
u=vk u=wk u = vk? u = wk? If —=—=k ,then : Z_¢-=—~:kfl
v_w y__ W
" S L g 500 7 10
P e S B e .
. 5o " Two tangents drawn to a circle  (ffd st
Triple Double Equal Half from a point outside it are of---- in lenpth :
T n T ) e Sri Ju%ﬁfiﬁs/ﬁi:of(‘bug il
F Q " 10 The measure of the external angle of a
4 8 6 10 regular octagon is :
IV 11 I 1 contBA-1,4) 491 1
Point ( ~ 1, 4 ) lies in the quadrant
- | 1 | S 13
9’_*19_ a—ﬁ- l—i — — -+ — isequalto : e i
ap ap a B a a f a
u_»!)i.«‘ﬁa //_'_,..?13 Sk /..,-—?f:/;; —25-:—%}-——) is | et ( 2:;:1____,__)_ 14
An A proper z An improper {(x+D(x—1i x+D(x -1
inequation fraction Aty cgpation fraction
3 <1 I 0 ‘L-uf/}wb{gﬂljjigd/.dﬂ =

Product of cube roots of unity is :
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(PART -1 Js.@ )
12 2. Write short answers to any SIX (6) questions : 4 ez A L ey (6)4;.(;:( 2

(1) Solve by factorization : Xex-20=0 : ’é’ Ju £ (D
(i1) Define radical equation. oy e ()
(iii)  Find the discriminant of the following equation : : 5(:"’ 04, J/K:ybb-‘f Sa (1i1)
6x% ~8x+3=0
(iv) Evaluate : (1-0-0®) : :é(:l"‘ ad (iv)

x>=5x+3=0 é.{(:l”,.}(f‘b;:l;:fﬂ;d"fabvJ.un v)
(v) Without solving, find the sum and the product of the roots of quadratic equation : X2 -5x+3=0
(4552 +15)+(x+3) w2t Suse S Ko n i Z o i)
(vi) Use synthetic division to find the quotient and the remainder when : (4x> ~5x +15)+ (x +3)
“Unsis3:4 s 2p+5:3p+ 4 ﬁﬁép‘*‘mﬁd’p (vii)
(vit) Find the value of p if the ratios 2p+5:3p+4 and 3 : 4 are equal.

(viii) Define joint variation. E AT (viid
(ix) Find a third proportional to : a*-b a-b -] (:1” B2 (i)
12 3. Write short answers to any SIX (6) questions : : 4 T /;; L =y (6).{4@/ 3
(i) Define improper fraction. RESE T R P A ¢))
(i) Define rational fraction. eSS G

e XUYIY={24,59} X={1,4,7,9} 1 (ii)
(i) If X={1,4,7,9}s  Y={2,4,59)thenfindXUY?

(e BxA MAXB JB={c,d} « A={a,b}S1 GV
(iv) f A={a,b} ,B={c,d)} thenfind AxB and B x A?

(v) Define domain set of relation. : ..éh...y Plertnly, (W)

(vi) Findaandbif (a~4,b-2)=(2,1) (a—4,b-2)=(2,1) 1 buia Vi
(vii) Define arithmetic mean. _2.”;.},' v JJV;IQL? (vii)
(viil) Find arithmetic mean : 12, 14,17,20,24,29,35,45 bl (viii)

- 11500, 12400, 15000 , 14500, 14800 108G (Urgns Jn¥ Soxtify  (ix)
(1X) The salaries of five teachers in rupees are as : 11500 12400, 15000, 14500 14800, find range.

12 4. Write short answers to any SIX (6) questions : : e EIAT 4 /‘; L =iy (6).6':.(5:( 4

(i) Define degree. Ly de 3 (1)
(i) Convert 25°30' to decimal degree. éJ v d; J,JL—‘I;'/ 25°30° (il)
‘(i) Find ‘¢ ’, when 0=180°, r =49cm (6=180°, r = d9em FEed ¢ 4 (D)
(iv) Define abtuse angle. , B CEw J e (1V)
(2'&13 )

L“(_ ;.,_,,_/(8



(2)

4. (v) Define circular area. EEy ki (V) -4
(vi) Define length of tangent. =y & JLJJJ ¥ (vD
(vii) Define an arc of the circle. Sy Uit (il
(viil) What is meant by sector of a circle? Sl e f? L sty (viid)
(ix) Define circum circle. . Sy Sl (ix)

4

(PART -1I #5)

Note : Attempt THREE questions in all. _q_d)ll 9 /" Jird-a _ef.wzzig.-.uwr." ‘f 0T
But question No.9 is Compulsory.
5. (a) Solve the equation : x*—13x% +36=0 c ZF en- (D) 5

x3+y3 = (x+y)(x+0)y)(x+m2y) :fécat" )

(b) Prove that : x3+y3:(x+y)(x+0)y)(x+m2y)

fi%{rPM:'Jx+§y + x+§z Z-KL/LJV;%'-%’UZJ’J}" (9) .6
x-2y x-2z
=
y+z
6. (a) Find value of e 4 2, i by using theorem of componendo-dividendo if
x-2y x-2z '
4yz
y+z
(b) Resolve into partial fractions : 2 7y J:L; J UL Gz ()

(x-1)(x+2)
e A=1{1,2,3,4,5,6},B={2,4,6,8},C={1,48}.1 () 7
AN(BUC)=(ANB)U(ANC) SZE ot

7. (@ If A={1,2,3,4,56} ,B={2,4,6,8},C={1,4,8}then
prove that AN(BUC)=(ANnB)u(ANC)

12,6,7,3, 15,10, 18,5 : 250+ S S sl s ()
(b) Find the standard deviation ‘S’ for the set of numbers 12,6,7,3, 15,10, 18,5

8. (a) Provethat : I+S?ne—l_51n8=4tanesece ‘ cgtet (D) .8
I-sin® 1+sin0B
?gdbf_f]};:/iﬂ:;ﬁfﬁ.SJ‘GJ?HK}G/Z.U'/fLﬂr‘JE’Usl(;Z.5 Jluég’}zgt_/”b 1) (._,)
(b) Draw two circles with radii 2.5 cm and 3 cm. If their centres are
6.5 cm apart, then draw two direct common tangents?
...c‘:_t‘/u-i:.".’“tfd’l r»f4)':ujc.?,/£¢.fbfé~:‘-«:? 9
9. Prove that perpendicular from the centre of a circle on a chord bisects it.
OR 13
st R s P13, 2B S L2 ) S 2t

Prove that any two angles in the same segment of a circle are equal.
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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in_zero mark in that question.

D C B A Questions / = yi» -y
et : P el e $ T3 PSS 360 RS |
—7 S S i 1
) = e A SR sl . A fraction in which the degree ! f_.dl.lv‘f
ﬁp rf_per An identity f prope An equation | of numerator is less than the degree of
Agtiom raction the denominator is called :
5 2
S v 5 " | .f_.m,;:.;}.\mBmAc;Bfn
If ACB then AnBisequal to:
(j\ T A o PNCIIC ST O
. The symbol for a triangle is denoted by :
| Loz b S E L ot w2 S0 |4
4 3 2 1 How many cornmon tangents can be
drawn for two touching circles :
S p % AT P P (S Y 7 I
Centre Diameter Chord Secant A circle has only one -— :
UJ;J'J: ax? +bx+c =0 e ilaf B 6
4 3 2 1 The number of terms in a standard . 5.;l,6" d/
quadratic equation ax? +bx+c =0 is:
ik 7
Lt 24 = 0zl
~b% —4ac ~b* +4ac b? +4ac b? —4ac frtni U ax +E;x+c b=l
The discriminant of ax” +bx+c=0 is :
¢ e 8
If ! d{'..-::-»-{""».:-';]/iﬂg=f—/ff
a-b c—d ad a ¢ a ¢ b d
d be a=b c-d a+b c+d % = 5 then componendo property is :
L o/ J.’.w f;:; = Juf%é’%libﬂi/?b’)ﬁ 9
Trigigle Circle Rectangle Closed figure A frequency polygon is a many sided ---:
4 . s - T Syl € Fima 7 7
S b S o o U .v’usd.LrZ.L‘)gs Jq)/u u"/{ug}fd..._/bbg 10
i . ) The arcs opposite to incongruent I % Gteae
Incongruent Congruent Perpendicular Parallel central angles of a circle are always -—- -
sin 0 '1 o SinD secBcotf= — —— : 1
cos 6 sin O cos 0
3 -1 1 0 3%—&*%()'4@5’&*’&*13?&&“ I
Product of cube roots of unity is :
e o e ol : /“_.'drfoéD_/Z.JUJLL.fbé@JJ/SJ:L/IUHQ 13
1 time {2 times I3 times U4 times | The length of the diameter of a circle is
how many times the radius of the circle :
uv® =1 uv? =k u = kv* u=v If uocv? then : Ju o v? A L
< i erlf L ca:ﬁ? 1-:“--L“U?(*J?JWJ/JJ!/J: Per | B
Super set Singleton set Empty set Subset A set with no element is called :
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( PART -1 J,r,ﬁ )
12 2. Write short answers to any SIX (6) questions : . o A2 /”' L =iy (6){:_6.{ 2
_a“u:fd;?f—x— Fil =6 wsbeBusy (1)
x+1 X
(1) Write the quadratic equation 2T - 6
x+1 x

-éfur;liKL/J"FU»ZJ;!:L»J;?&»» (1)

(ii) Write the standard quadratic equation and also write quadratic formula to solve it.
_éd"ﬂéﬂ”fﬁd’bul;.‘f&fuﬁ 2px* +3gx — 4r=0 =hls (i)
(i11) Find the sum and product of the roots of the equation 2px?® + 3gx — 4r = 0 without solving.

~U¥ 3—\6 M 352 J,,«Lu’-g,.u;mvdm Gv)
a

(iv) Form/ quadratic equation whose roots are 3 + N2 and 3-2

(v) Evaluate : (1-30-30%) ZEerad (V)

(vi) Define synthetic division. c‘f\.ﬂ }’J("’ o“( 7 (vi)
3 piunstatd” 3 mp12/1 (viD)

(vii) Find p, if 12, p and 3 are in continued proportion.
ér:l”x y oy 3(4x S5y)=2x- 7y/(| (vii)

(viil) Find the ratlo x:y,if3(4x-5y)=2x-Ty ¥
g fourth
(ix) Finda;  proportionalto 5,8, 15 -5 BBz 5,8, 15 (ix)
12 3. Write short answers to any SIX (6) questions : J Az A L sy (6){4.6:( 3
() What is an improper fraction? “c.dnl// 2l (@)
- 3
, \ , g _
(11) Find partial fraction of GrDG-D) & Sz J D (x D

YAX &7 Y={2,4,59} » X={1,4,7,9} S Gid)

(i) If X= {1,4,7,9} andY={2,4,5,9 } thenfind Y n X
Z=1{2,3,5711,13,17,19,23 } s Y= {0,2,4,6,8,---,20} «X={1,3,5,7, e 031 GV

(XAY)NZ &)
Gv) If X={1,3,57 -9 §={0,2,4,6,8--,20}andZ={2,3,5,7,11, 13,17, 19,23}

then find (X NnY )N Z
ZeP v aain(2a+5,3)=(7,b-4) JI (V)
(v) Findaandbif(2a+5,3)=(7.b-4)

I(Vi) Define an onto function. -éq'j ¥ S liz;-uf (vi)
(vii) Define a frequency distribution. A 6w (vid)
(viii) Find arithmetic mean by direct method : :Z:(:L"(.‘D_ bty ) bl (viii)

200, 225, 350, 375, 270, 320, 290
(ix) For the following data, find the harmonic mean : :éffr:"'_‘ th-ﬁfff %. Coirtsosir (X)
x|12]5]8]4]

(Zi3s)
LR 10 - 2~}




Q)
12 4. Write short answers to any SIX (6) questions : : o AR /'? L iy (6)4’:..6:( 4

(i) Verify the identity (1-sin0)(1+sin0) = cos* A AV €)
(ii)) How many minutes are there in two right angles? et E F Uz (i)
(it1) Find *r °, when £=52cm , 0=45° 0=45° « £=52cm LZ et r 0 (i)
(iv) What is meant by zero dimension? e pfacrgp® (iV)
(v) Define circumference. Ry g he (V)
(vi) Define secant. =y SCs (v
(vil) Define chord of a circle. ué i /" SHL i (viD)
(viii) Define cyclic quadrilateral. oy P4 2L (viid)
(ix) Define an arc. Sy Sord (Gx)

(PART -1 550
Note : Attempt THREE questions in all. -9 /deru?_ér:,ug[.ammf S oad
But question No.9 is Compulsory.
" 4 ,
4 5. (a) Solve the equation : Sx2 =Tx4~2 22 ens (9) 5
IV 1 23 -3t + 9 L?;/E"(B; :ﬁfléfﬁ’d&h;d%iﬁgm{f (<)
(b) Find the value of h using synthetic division, if 3 is the zero of the
polynomial 26 =3 + 9

4 ZfS ﬂi*‘ jx*g =§ el e J1l e S () 6
X A

Vx+3++4x-3 4

6. (a) Using componendo-dividendo theorem, solve the equation -
- _x/x Fhealt=3 3
4 (b) Resolve into partial fractions : 5 i é‘):b' S 6 (L)
(1) (x+1)
4 B={1,4,710} sA={1,3,579}U={1,234,-—,10}./1 (D) .7

B-A=BnA SEE ok
7. €a) If U={1,2,3,4,—-10},A={1,3,5,7,9} andB={1,4,7,10}
then verify thatB—~ A= B4’ ‘
4 i0,8,9,7,5,12,8,6,8,2 : &by ()

(b) Calculate variance for the data : 10,8,9,7,5,12,8,6,8,2

4 8. (&) Verfy : (tan©+cot0) tan O = sec? O D S (D) .8
4 ?Z?T,JL/J:Q‘LUI;ﬂfﬁ ,.L*’{:'&yn(}}ll/£gjl/#l..é;frd_.fl:dsl,«'anJI:J(Z.4 (o)

(b) Draw two equal circles of each radius 2.4 cm. If the distance between their
centres is 6 cm, then draw their transverse tangents?

8 -;.r:e:/g)':cbd;jﬂlsé./-.ﬁ;‘:‘“d/ (n 2 )F:o’(a,f/éé_ff:féff:.ab‘ 9
9. Prove that a straight line, drawn from the centre of a circle to bisect a chord ( which
isnota diarr(l)e}t{er) is perpendicular to the chord.

L
e tilla e sim® Lo d S G0 nie 38T pisece iU St St
Prove that the measure of a central angle of a minor arc of a circle is double that of
the angle subtended by the corresponding major arc.
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